41 < Vx < 5.6 & TEohs AAg x o L FolA 7t

VA 22 b

7%]—5_
S
=

A=
T T=4a,
o, a+b o] FLo= Ao 227

@® 42 @ 45 ® 48 @ 51 ® 54



57
24

47
- 3
24 @

23
12



O|APFA A X2 —4x +a
S = il
@ 3 B3 4

@-%013051@1’(194%}:],}.



A 2x% +

2 A

o

o] o]7

]
ol
i~
Nfo
rJ
U
or

X x2 - x-6

5o

].1:1

bx—2=0 9] Zolzt1l

o]

£9

b ok

keig
=

@ 2 ® 3

@1



2x2-5x-3=0

Yol RN

™M A



— (=V8) = (~VB)" = V(-2)%, B= V&= (=2)" + /(=5) x

2
) o W, AB 9| gk& F51H?

e
o

@® -60 @ -48 ® 10 @ 48 ® 60



7. o2 FAAA 3v2 -5 of Bi-gohe H2?




G2 2x% + 3xy — 27, 4x2 + 5xy +ay? 9 T
A5 a, b o W5t a - b 9] gHS F51E?

o
A8

A7t x + by



® (x+y-3)°

@) (x—y+3)2

D (x+y+3)?

® (x+y—i—4)2

@ (x-y-3)°






11, —9x% +y? +6xz— 2% & AFEINFAEY (ay - 3x +2)(y + bx + c2)
7} SISk ofu, 4% a, b, ¢ o TH5te] at b+ c O @S Fotm?



1A FS y = ax? + br+ ¢ = A4 x = 2 o dhste] Aol A4

Sl R FO) x HEA 3, 2D Woatbtc o B



OIAFA y = % — dkx + 242 + k—1 O HEGEE m o2t T ), m
ke

@% ® -1 ®



14, o8 29T 2o] F By =2, y =~ 2ol efgte] F Azl
M2 o g2olth AY xHEE a0, BY xFAFE bt
are Foim?

oo, ab 9]




yl\

/

\/O

y=ax*+b+c

HV

@ a+b+c>0 @ a<0 @ b>0

@ c<0 ® a-b+c<0



